N = 0l & At & Ml A

M DSALED
g =4 datd unsMA 2=
& Helst nsSHH 29 (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
WS A& Dt 1,065,183 266,308 798,875
< 50,000 50,000 0
Al 1,015,183 216,308 798,875
=M XstE NSHAH A= 870,000 50,000 820,000
< 50,000 50,000 0
Al 820,000 0 820,000
Helgt nsSHHA 29 870,000 50,000 820,000
< 50,000 50,000 0
Al 820,000 0 820,000
ME WS ALY 820,000 0 820,000
401 AIEHI L 20 820,000 0 820,000
01 A€ HI 820,000 0 820,000
OJ0INF daus - d&etd HAAY Jl=
HeE & Jl2 - AAEASES 820,000,000 820,000 0 820,000
HY2HAH (LS AE) 92,607 96,308 A 3,701
Jl2Z3l 51,679 55,380 A3,701
JlE&l 51,679 55,380 A 3,701
202 Oddl 23,659 27,360 A 3,701
01 SLHOYI 23,659 27,360 A 3,701
LRI 204 23,659,000 23,659 27,360 A 3,701
NRES(WSAIE) 102,576 120,000 NT7,424
BEI= 102,576 120,000 N7 ,424
S SsSAEAY XSHEII= XS & 102,576 120,000 N1T,424
311 X+ S0l At &f & 102,576 120,000 AT ,424
01T Al -2 - 2XNSHLISXHL S0l Xtate 102,576 120,000 NT7,424
OBULESAEAY XNSMLIIS Ol RH&EH(2
1449 XSHLIN2) 102,575,340& 102,576 120,000 N7 ,424
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